HHE - BBEERE http://www.vane-pump.com

B AR

T7B, T6C, T6D, T6E &%

(T6C)
S P
/
L ’ L]
B i
RN = i
NS K
T |%,,,%,,,,,%;
P ¥
(I | |
\
BIBRBIE .o ff] : T7B-B10-1R00-A1IM1 - T6C-025-1R00-C1
1. [EEB10-1R0O0-AIML.....rvvverrrrrierrnaane. SR 3. T7B-B10HIRO0-AIML ...ooovrvveerrrriennns CAlGIFIZEN
SAE %% T7BS | T6C | TeD | TeE 4. T7B-B10-1FO0-AIML ..oovrvvmroririrerieinnns |
LIRS T7B - - - i
IS R
2. T7BEH-1R00-AIML ..., ER¥US i T L
B c D E 5. T7B-B10-1RE-AIML ..oovvvveiern. A
BO2......... 5.8|003....... 10.8 |014....... 47.6 | 042....132.3 L
S03osloos 172 017 =82 Tois 1222 6. T7B-B10-1ROOJIIML .ooovvvvvicri W
B04.......12.8 | 006 .......21.3 | 020.......66.0 | 050 .....158.5 7. T7B-B10-1R00-ARIM1 .....coocoovvvirirrinnee. R
oo e tne ot s o ties| | 1
BO7....... 225|012...... 37.1 |031....... 98.3 | 062 .....196.7 aﬁﬁﬁé’ﬁ5?"?’”7\&'!*[1[5"5‘}"&“?@ 5
B0S....24.9 |014....46.0 |035...111.0 | 066...213.3 8. T7B-B10-1R00-ALNHE ........ccoocovvvvvnrnn. SR
B10.......31.8 | 017 .......58.3 [ 038....120.3 | 072.....227.1 T T78 / T7BS Y 5 i
B12....... 41.0 |020....... 63.8 | 042.....136.0 | 085.....269.0 T7BS : UNC jiz¥ o1 00
B15....... 50.0 |022....... 70.3 | 045.....145.7 T7B'/\%U[§E«'3W ML MO
025.....79.3 | 050.....158.0 P SR
028....... 88.8
031.....100.0
= P £ £
s m [ ][ - = B = O
S

DENISON 2-10



HHE - BBEERE http://www.vane-pump.com

L1 Al A e

E 38.1

B - F 82.3

G| 1685

J1|100.000

) J2| 99.967

5o\ [Q_O\| + [~ o

o O| 1745

I E[ ™ m| |ep| 140

.
Q ) / : T7BS | T6C
f Ly E 38.1 38.1
C1 C1|F 82.3 82.3
- T T G| 1685| 1616
J1| 101.60| 101.60
0] J2| 101.55| 101.55
N K e F N | 146.0| 146.0
>l > O| 1745| 1745
L2 T T P 14.3 14.3
[] \\ \

N KIXK2 x il - - E T6D T6E
Q E 38.1 52.3
vy B__, -

Q < v F 87.4| 110.0
O L G| 184.9| 2253
_ J1| 127.00| 127.00
\ T [ 5 J2| 126.95| 126.95
] N| 181.0| 181.0
O| 212.4| 213.0
M1 G
@P 17.5 17.5
ol m B RH5E (N.m) ZHE RS (mm)
T7B |T7BS| T6C | T6D | T6E L1 L2 B K1x K2 H1 M1
4t . SAE B (222) [ 275 71.4 38.1 |22225-22.200 | 6.35x6.30 | 24.95 M8 x 16
1 | P4t : SAE C (@31) [ ) 83.6 493 |31.750-31.700 | 7.94x7.89 | 3527 | M10x20
P4 . SAE CC (238) o 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10x20
T4 - No SAE (222) 238 58.2 31.7 |22225-22200 | 4.76x4.71 | 2453 -
it ISOR775 (@25) | @ 70.0 40.0 |24.9935-25.0065| 8.00x7.00 | 28.22 -
2 P - No SAE (231) 577 73.2 38.1 |31.750-31.700 | 7.94x7.89 | 35.27 -
“F4 - No SAE (231) 577 | 1.9 38.1 |31.750-31.700 | 7.94x7.89 | 35.27 -
1e#t : SAEB ® | 343 40.7 245 Class 1-J498b, 16/32 d.p. - 13 F -
3 1ef# : SAE C [ ) [ ) 55.2 38.0 Class 1-J498b, 12/24 d.p. - 14 F -
1c4# : SAE BB [ [ ) 455 24.5 Class 1-J498b, 16/32 d.p. - 15 -
4 | {£% - No SAE [ ) 77.7 48.0 Class 1-J498b, 12/24 d.p. - 14 f -
1eHt . SAE CC o 62.2 315 Class 1-J498b, 12/24 d.p. - 17 F -
e ZF R~F (mm)
Al B1 @C1 D1 T1 NEBLL
ey
s | " | e [ 2 ] g ] B ] we
S 1% 35.8 70.0 38.1 76.2 %"-13UNC x 22.4
Y
e | P e | 2] B | W
S 1% 35.8 70.0 38.1 76.2 M12 x 22.4
Tec P 1" 26.2 52.4 25.4 76.2 %/g"-16UNC x 19.0
S 1% 35.8 70.0 38.1 76.2 %"-13UNC x 22.4
6D P 1Y 30.2 58.7 31.8 82.6 "1,6"-14UNC x 22.3
S 2" 42.9 77.8 50.8 82.6 %"-13UNC x 23.9
— P 1% 35.7 69.8 37.1 98.6 ;/z”-13UNC x 23.4
S 3" 61.9 106.4 75.0 98.6 /g"-11UNC x 24.0

DENISON 2-11



